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Question 1. F ind/evaluate the following:
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Question 2.
(2) (1 marks) Write the definition of the definite integral
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(b) (3 marks) Using words describe
i) What Ax is.
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ii) What f(x,) is.
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iif) What the purpose of the limit is.
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(¢) (6 marks) Use the definition of the '\'\'\'6,3(0\\ to find:
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Question 3. Evaluate the following definite integrals:
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Question 4. (5 marks) Given that the areas of the regions in the following diagram are

A

find the following (show your work):
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Question 5. (5 marks) Find the average value of

f(x)=\/?c+%

over the interval [ Iq] Write you answer as a fraction.
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Question 6. (6 marks) Find the area of the region bounded by
fx)=x>+x2—3x+1and g(x) = 1 —x. Sketch a graph to help solve the problem.
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